Get out your

1)Describe the translation in hOmGWOYk

the graph below (4 15

2)The point A(-10,-5)

W\((ﬂh)r’has undergone the

L&

transformation T3 1.
What point is the
preimage of A?
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1) Write down the coordinates of
eachpoint: A (-, _2)B
L. =Z)ed. L)
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2) Plot any point along this line.
What is the y value? Try another
point. What is the pattern?
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3)According to this pattern then, we
can name this line as y=__ _. The
liney=_ 1) _is_owllc ‘
to the x-axis and it is a

o Zo0TN line.
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.Draw and label the line y=-2.

Draw and Ibel the line x=3.
I3 line iswva\\ﬁ\ to
e y- axis and it is

NOCH R\ _line.
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1) Reflect the point A (4,2) across the line y=3.

i o
l
i

=N W s, |~

R |=

B |

L
~
— —




2) Reflect the B (-2,0) across the y-axis.
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3)Reflect the C (6,5Y3cross ’che_>_<_—_axis.
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4.Reflect the point D(-3,55) across the line y-axis

5.Reflect the point E(1,-2) across the line x -axis
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6) Reflect the shape b)e/low across the line y=1
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1)Look at #2 and #4. W!a’c !appened to your

coordinates when you reflected across the y-axis?
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2)Look at #3 and #5. W!at !appened to your

coordinates when you reflected across the x-axis?
6,5 C(Le =5 )
EA-2)E(_) ,C )

Notes: l&/i) “valles dnande A NELaON

3)How did you reflect the triangle ABC given
in#6? In other words, what was your mental
process?! List your process.
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4)In
table provided.
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5)1f the point A (4,2) was reflected across the

line y=x, what would be the coordinates for A"?
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Rules of Reflection

Ty-axis (1Y) = (1,-Y) Keep x, opposite y
Ty-axis (%) = (=x,Y) Opposite x, keep y
Ty=x (%,Y) = (%) Switchx and y

Ty=—x (%) = (-,-X) Switch and opposite x and y



